MATH 111/

Naine:

Solubons

WORKSHEET 5

Work in groups to answer as many problems as you can. Ask questions if you get stuck.

1. Find a linear model to represent the data for each of the following tables.
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Answer:
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Answer:

2. Determine if the graphs below represent functions.

(a)

Yy

Yes

Answer:

(d)

(e)

(f)

(b)
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i

Answer: ld =Wo- ex

Z2=55-w

Answer:

=14 +\0C
Answer: ‘d \

Answer:

No
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3. Find the domain of the given function.

(@) fz)=9-= ® 1) =~
6-4EDO
s 21 @) urdoets A
nswer:
(b) P(z)=2* -4 () f(w) = Vvuw+T7T
Vi—u §2-1>0
W t+7 >0
Answer: O\\ reO-\ OUMWS
- /4
9o 22 S
' (i) AG) = v=T=0z
2% qz 20
| Z2(2-) 720
/
Answer: x :ﬁ 8 Answer: O S z -<.. Gl
2 —4
W A= a7 () h(e)=VF=z-20
i &E +Z)(.e"2') Z'&__ 2-20 72 o
(e+7)E-1) (2-5)Z+&) 70
Aunswer: b:#-_7' \ Answer: 2 é ‘L{’
w? 4+ 3w+ 2 27/6 -
(e) A(w)= P+ Do +36 (k) g(t) = 5?1-:0
o _(__(_')_'f_'_'_)_(_)%*_'}l G+eE 2O = £ -6
(v +6 5t-|0>o = E>Z
-5 :
Answer: o :F Answer: 6 >2
f )= m
o ) gt) = /ot
10 -\6 RO | 6
3, 510-5t >0 = £4%
Answer: I >/ Z :
Answer: _6-46 < 2
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4. (a) An internet bookstore charges $15 shipping for orders under $100 but provides free shipping for orders of $100 or

maore.

i. Find a piecewise function C that represents the cost of an order based on the total price x of books purchased.

X415
C(x)= /
>C

J
ii. Find C(75), C(100) and C(105).

Answer:

X 4100

€ 200

iqo

Answer:

400

Answer:

$105

(b) A hotel chain charges $74 dollars per night for the first two nights and $50 for each additional night.

i. Express the total cost T as function of the number of nights - that a guest stays.

T(x) = T4

4 + Bo(x-2),

ii. Find T(2), T(3) and T(5).

Answer:

x <l
y A

$ 147

Answer:

{1ray

Answer:

{248

1)

Cont.



#

MATH 111 Worksheet 5 Page 5 of 6

{c) In a certain state, the maximum speed permitted on freeways is 65mph, and the minimum is 40mph. The fine for
violating these limits is $15 for every mile above the speed limit or $10 for every mile below the speed limit.

i. Express the total cost of the fine F in terms of the driving speed x on the freeway.

(L('O'-x)loz X <40
F(x)= o vo < X £65
(Dc—€:6)15 6543;

ii. Find F(30), F(50) and F(75).

Answer: ‘$ l OO
Answer: ~$ O
| 5O

LN

Answer:

(d) A utility company chatdes a base rate of 10 cents per kilowatt hour (KTVh) for the first 350&1h and 15 cents per
kilowatt hour for all additional electricity usage.

i. Express the amount E that the utility company charges when x kilowatt hours of electricity is used.

£l o-toc oA LDE0
xX) =

35+o-l5(1“350)/ oC > 350

ii. Find E(300}, E(350) and E(G00).

Answer; $ 3 O
Answer: j) 3 5
372-5

Answer:

Cont,
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(e} To discourage excessive water use, a city charges its residents $0.008 per gallon for households that use less than
4,000 gallons a month and $0.012 for houscholds that use 4, 000 gallons or wore.

i. Find a piecewise function C that gives the water bill for a household using . gallons of water.

0-008 X oC £ 4,000
O-0V2L 0K o€ >,£L,ooo

C(x) =

ii. Find C(3,900) and C(4, 200).

$31 20
$ 50 4o

Answer:

Answer:

(f} In a certain country, income tax T is assessed based on a persons total income (in dollars). A person is charged as
follows;

o If the persons income is $10, 000 or less, no tax is charged.
o If the person earns more than $10,000 but no more than $20, 000, they are charged 8% of their total income.

o If the person earns more than $20,000, they are charged the same %8 on anything up to $20,000 and a further
15% on anything over 20,000.

i. Find a piecewise function T that represents the tax paid by a person earning = dollars.

o ) ~ £ 10,000
1600 +0:5(X-2000) | 504

ii. Find T(5,000), T(12,000) and T'(25,000).

Answer: $ O
o Jaeo
nswer

Answer: ‘$ 23 SO

The End.



